mean # PXL hits vs eta mean # PXL Layers with measurement vs eta |

<pixel hits>

4

<pixel layers> [
w
(98] 6]

—— T
-—
R T —

——
N
N 1

_________ g b

0.95 0.95

—=— DQM old

mean # STRIP hits v| —— DQM_wrong

<strip hits> [

Ratio

—«— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z_RECO

18 N i S S i
o Z 5 5 5 5 =
16 c_>cs‘ - 4 i i i
o 10 AEE B (ERERR oo | """""""
14 = i A B A
V)] . [ ] : H
V B : :
12 8_— """"""" ;.: """"" ol £ R 1 S A R
10 W T
6— --------------- > 1
8 i :
6 e
4 i
Dp 15 S R

*

®-- k- g Aa o 8-

»

: #
Ratio
=

= oy

!IIII!IIII

i

b

! N

.




	Contents
	Page 1


